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E2 = B
LEBEEH 19,481 A 19,689 A 39,170 A
s L1 EEBE 6,496 A 5,964 A 12,460 A
HBARERE 3,573 A 3,756 A 7,329 A
THEEERE 54 A 27 A 81 A
it 10,123 A 9,747 A 19,870 A
SEEDS B RIRE 0 A 0 A 0 A
TEEEREDS B =@ 0 A 0 A 0 A
ER 0 A 0 A 0 A
EEEN 9,358 A 9,942 A 19,300 A
BER 51.96 % 49.50 % 50.73 %
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5B ES B
LEBEEYR 5 A 10 A 15 A
BEEH NEE - BME - BREFT 3 A 4 A (PN
HARAEE 0 A 0 A 0 A
TEERE 0 A 0 A 0 A
it 3 A 4 A 7 A
BEEDSH = 0 A 0 A 0 A
THEEEREDS B 2 0 A 0 A 0 A
ER 0 A 0 A 0 A
ZEEEN 2 A 6 A 8 A
BEXR 60.00 % 40.00 % 46.67 %
(N +7E45))
2 = B
LEHEEY 19, 486 19, 699 39, 185
BEEH 10, 126 9,751 19, 877
EEEN 9, 360 9,948 19, 308
BER 51.97 49. 50 50. 73




